USDA - RUS			Title of Information Document						OMB No.			
								0572-0122				
SUMMARY OF INFORMATION COLLECTION			7 CFR Part 1779 - Water and Waste						Date Prepared			
		Dispos	Disposal Guaranteed Loans						Mar. 2010			
INSTRUCTIONS:			> (f) TOTAL (h) TOTAL									
Use this form wh	en a single information collection document involves multiple rep	orting and		>		= (e) Averag		= (g) Averag		= (j) Average		
lkeeping requirer	nents.		•	>	(d) TOTAL		(f) TOTAL		(i) TOTAL			
IDENTIFICATIO	IDENTIFICATION OF REPORTING AND RECORDKEEPPING REQUIREMENTS			ANNUAL BURDEN					RECORDS			
		FORM			REPORTS							
SECTION OF		NO(s)	NO. OF	NO. OF	TOTAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL		
REGULATIONS	DESCRIPTION	(If "none" so state)	RESPON- DENTS	RESPONSES PER	ANNUAL RESPONSES	PER RESPONSE	HOURS (Col. f & g)	RECORD- KEEPERS	HOURS PER RECORD-	RECORD- KEEPING		
REGULATIONS	DESCRIPTION	SU State)	DLINIS	RESPON-	(Col. d & e)	RESPONSE	(COI. 1 & g)	KLLFLKJ	KEEPER	HOURS		
				DENT						(Col. i & j)		
(a)	<i>(b)</i>	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)		
	Reporting Requirements - No Forms											
1779.20	Legal Authority and Responsibility		12	1	12	1.00	12					
	Description of the sector of the Western		10		10	1.00	10					
1779.27, .52	Proof of Lender Eligibility		12	1	12	1.00	12					
1779.52	Intergovernmental Review		12	1	12	2.00	24					
1119.52				-	12	2.00	2.					
1779.52	Preapplication Development		12	1	12	4.00	48					
1779.9, .27(b), .37			10		10	20.00	200					
, .47, .52	Application Development		10	1	10	20.00	200					
1779.59	Commitment Cancellation		2	1	2	1.00	2					
1779.59			-	-	-	1.00	-					
1779.24 & .63	Preguarantee Review		10	1	10	4.00	40					
1779.12, .42	Construction Contracts		10	1	10	3.00	30					
			10		10	1.00	10					
1779.12, .42(b)	Inspections		10	1	10	1.00	10					
1779.12, .69 & .73	Loan Servicing/ Audited Financial Statements		15	1	15	24.00	360					
1779.70.,	Borrower Default		1	1	1	24.00	24					
75, .78, .80,	Bonower Delault		L 1			24.00	24					
1779.81	Liquidation		1	1	1	40.00	40					
1.1.0.01												
1779.85	Bankruptcy Responsibilities		1	1	1	40.00	40					
1779.88	Transfer and Assumptions		1	1	1	8.00	8					
1770.00	Diagonitian of Acquired Dranget		1	ı	1	0 00	0					
1779.90	Disposition of Acquired Property		1	1	1	8.00	8					

IDENTIFICATION OF REPORTING AND RECORDKEEPPING REQUIREMENTS						ANNUAL	BURDEN			
		FORM	REPORTS					RECORDS		
		NO(s)	NO. OF	NO. OF	TOTAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL
SECTION OF		(If "none"	RESPON-	RESPONSES	ANNUAL	PER	HOURS	RECORD-	HOURS PER	RECORD-
REGULATIONS	DESCRIPTION	so state)	DENTS	PER	RESPONSES	RESPONSE	(Col. f & g)	KEEPERS	RECORD-	KEEPING
				RESPON-	(Col. d & e)				KEEPER	HOURS
(a)	(b)	(c)	(d)	DENT (e)	(f)	(g)	(h)	(i)	(j)	(Col. i & j) (k)
	Total Hours Cleared with this Package		15	7.33	110		858		Page _1	
	Reporting Requirements - Forms Cleared Under Other Dockets									
1779.28(b), .52	Application for Loan and Guarantee	3575-1*	15	1	15	10.00	150			
1779.28(c), .53	Conditional Commitment for Guarantee	449-14*	10	1	10	0.25	3			
1779.81, .85	Report of Loss	449-30*	1	1	1	25.00	25			
1779.4,.64,	Lender's Agreement	449-35*	10	1	10	1.50	15			
1779.64, .65	Assignment Guarantee Agreement	449-36*	1	1	1	2.00	2			
1779.63	Guaranteed Loan Closing Report	1980-19*	10	1	10	1.00	10			
1779.78	Lender's Guaranteed Loan Payment to USDA	1980-43*	1	1	1	0.50	1			
1779.69	Guaranteed Loan Status Report	1980-41**	50	2	100	0.34	34			
1779.75(a)	Guaranteed Loan Borrower Default Status	1980-44**	1	6	6	0.34	2			
				1	B #0575-0 B #0570-0					
RUS Form 3	6 (07-91)								Page2_	of

-